AP CarLcurLus AB Worksheet 0 - Sets Name:
Dr. PauL L. BALEY Thursday, August 29, 2024

Two sets are disjoint if their intersection is empty. Write your answer either as a finite set, an interval,
the union of disjoint intervals, or the union of a finite set and one or more disjoint intervals.

Exercise 1. Consider the following sets of natural numbers.
A={neN|n<25}
E={neA|niseven}
O={necAlnisodd}

P ={n¢€ A|nis prime}
S={ne€ A|nis asquare}
Compute the following sets.
(a) P

(b) S

(c) SUP

(d) EnS

(e) (PUS)NO

) (O~P)N(ONS)

(g) (ONS) x (ENS)

Exercise 2. Consider the following intervals of real numbers.

A =10,10]

B = (4,12)

C = (-5,7]

D =[-3,13)

E = (5,15]

Compute the following sets.
(a) AUB

(b) ANB

(c) (AUB)~(ANB)
(d) (CUD)\ B

(e) (CND)UB

(f) C~ D

(g) AUE

(h) ANE

(i) DN A

Exercise 3. Compute the following sets of real numbers.
(a)A =1[1,20|nZ

(b) B=(5,10)n A

(c) C=1[8,11NnA

(d)y D=(BUC)~(BNC(C)

(e) E=[3,10]\ D

) F=(5,18) N E



Answer 1. Answers to Exercise 1.

(a) {2,3,5,7,11,13,17,19, 23}

(b) {1,4,9,16,25}

(c) {1,2,3,4,5,7,9,11,13,16,17,19, 23,25}
(d) {4,16}

(e) {1,3,5,7,9,11,13,17,19,23}

(f) {15,21}

(8) {(1,4), (1,16), (9,4), (9,16), (25,4), (25,16)}

Answer 2. Answers to Exercise 2.
(a) [0,12)
(b) (4,10]
(c) [0,4]

(i) [_ 10) U (]-Oa 13)

Answer 3. Answers to Exercise 3.

(a) {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20}
(b) {6,7,8,9}

(c) {8,9,10,11}

(d) {6,7,10,11}

(e) [3,6) U (6,7)U(7,10)

(f) {6,7}U[10,18)



